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JEfT BINE K4 J: 1 B |GROSS|HDCP | NET |crossi kS
1 IAEE 40 40/ 6.0 134.0 B
2 A ek 44| 44| 9.6 134.4 241
3 MR % 41 41 6.0 |35.0 31z
4 FE %k 39 39| 3.6 [35.4 4 fir
5 1fg wx 44|  44] 8.4 [35.6 5{if
6 KW ek 50/ 50/14.4 135.6
7 | ek 43 43| 7.2 |35.8 7 (L
8 [lLIEF =« 48] 48[12.0 [36.0
9 [FRA *xx 41  41] 4.8 136.2
10 [HFE  *x 40/ 40| 3.6 [36.4 1 047
11 [HFT 45/ 45| 8.4 136.6
12 |fhfE ek 45/ 45| 8.4 [36.6
13 [Ful ek 38/ 38 1.2 136.8
14 |HF 44 44] 7.2 136.8
15 |[HY  *k 42 42] 4.8 137.2
16 KA 48|  48[10.8 [37.2
17 KT ** 47 471 9.6 [37.4
18 | =5 %k 47 471 9.6 137.4
19 JATH e 46|  46] 8.4 137.6 !
20 [#AK  #x 52| 52]14.4 [37.6 RE
21 ik kx 51| 51/13.2 /87.8
22 |RNE % 48] 48] 9.6 [38.4
23 BN =x 52|  52/13.2 138.8
24 |WHE 52/  52/13.2 138.8
25 \fflO ek 45 45 6.0 [39.0 |
26 | B *x 451 45/ 6.0 139.0 |
27 [ BFF  #xx 45/ 45] 6.0 [39.0
28 | KE  xx 45/ 45/ 6.0 139.0
29 EF % 45 45] 6.0 139.0
30 | KIE 51  51/12.0 [39.0 RE
31 |MAA wx 51/ 51/12.0 '39.0
32 B = 51] 51[12.0 139.0
33 [FEE x 50 50/10.8 [39.2
34 R e 50/ 50/10.8 139.2
35 |BpH  wkx 49 49| 9.6 139.4
36 |FAHE  xx 49 42 2.4 139.6
37 | *x 48| 48] 8.4 [39.6
38 [FEH  wx 54|  54/14.4 139.6
39 R Ak 47 47! 7.2 139.8
40 BH ! 47] 470 7.2 139.8 RE
41 |FEM e : 46]  46] 6.0 140.0
42 1P k% ! 46]  46] 6.0 140.0
43 [FKE ok 52 52/12.0 140.0
44 [BFH x 521  52/12.0 140.0
45 [BFH  #x 58/ 58/18.0 140.0
46 Bl 58/ 58/18.0 40.0
47 |FE ek 50/ 50] 9.6 i40.4 |
48 |HIJI] ek 49] 49| 8.4 140.6
49 FkFH ek 49| 49 8.4 140.6
50 |ZAT  *x 49]  49] 8.4 [40.6 RE
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BT ZE K4 R B |GROSS|HDCP | NET |crossiii &
51 [HJIl = 55| 55|14 4 [40.6

52 |Z6H *x 48] 48] 7.2 140.8

53 FAAR ek 54|  54/13.2 140.8

54 |FHIE ek 52]  52[10.8 [41.2

55 [P sk 52/  52/10.8 [41.2

56 |[HifE  kx 58 58/16.8 141.2

57 EWE 57! 57/15.6 |41.4

58 [|FRA  *kx 57 57/15.6 |41.4

59 [BJII = 571 57/15.6 |41.4

60 [EEA  kk 50/ 50| 8.4 [41.6 RE
61 |FEF sk 50/ 50| 8.4 [41.6

62 |BRH ek 56| 56/14.4 [41.6

63 |FTA  wk 55| 55/13.2 [41.8

64 [IFL e 54| 54/12.0 142.0

65 | =By okk 621  62[20.0 42.0

66 |HE % 53]  53/10.8 [42.2

67 A * 52 52] 9.6 [42.4 ,

68 |45 ** 58/ 58[15.6 [42.4

69 [JBEL 50 50/ 7.2 142.8

70 [HUAS 52/ 52| 8.4 |43.6 RE
71 &3 #x 62  62[16.8 [45.2 BB
72 _BbF  bx ‘ 601  60/14.4 [45.6
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